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Oct 19­2:43 PM

Happy Thursday, Nov 3!

Do Now: 

The population of Chicago is 
2719000 and increasing by 
10% each year (because of the 
popularity of the cubs). Write 
a model of the population.

Oct 30­2:51 PM

Which graph would be a best fit for logarithm, exponential and linear?

Regression: the relation between selected values of x and 
 observed values of y, from which the most probable 

      value of y can be predicted for any value of x.

Logarithmic regression models occur when a phenomenon 
grows very quickly at the start.

TI­84/83 use natural logs and Nspire use 
common logs

Exponential regression models occur when an phenomeon 
accelerates over time.

LT6­Regression
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STEP 3: Find the equation
• STAT 
• CALC
• Choose the type of regression
• ENTER

To enter data
• Menu, add Lists and Spreadsheets
• Label Columns x and y,
• Enter Data: x values, y values

To create a scatter plot:
• Press CTRL, DOC to add a page
• Choose Add Graph
• Menu, Graph Type, Scatter Plot
• VAR choose x,  VAR choose y
• ENTER

To find the equation:
• Menu, Statistics,Stat Calculations
• Choose the type of regression
• Enter Xlist: x  Ylist: y
• Ok

To graph:
• Menu, Analazye, Regre

Nov 4­7:50 AM

Which regression would make the most sense?  Why?

Find the regression equation.

How much of the drug will be in your blood stream after 12 minutes? 

How long will it be until the amount of drug in your blood stream is at 0.5 mg?
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Oct 30­2:48 PM

Which regression would make the most sense?  Why?

Find the regression equation.

What will the population be in the year 2016?

The population of Jamestown has been recorded for selected years since 2000. 

In what year will the population be 9851? 

Year      2002     2004   2005    2007   2009

Population  5564      6121    6300   6812   7422

Oct 30­2:51 PM

Which regression would make the most sense?  Why?

Find the regression equation.

What will be the height after 80 days?

How many days will it be to reach 85 inches?

Days      8          14         22       40       48     54

Height(in)    4          18         48        60      71     73  

A corn plant will grow rapidly after it first emerges from the soil and then eventually slows its growth rate.
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Nov 4­11:38 AM

Homework:  
Regression Worksheet

Quiz Monday
Exit Ticket: What type of

regression should you use for:

Nov 4­10:27 AM
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